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Alexandriumspp.: 10
D. fortii: 40
D. acuminata: 20

TE

Alexandriumspp.: -
D. fortii: -
D. acuminata: -

@\
Alexandriumspp.: 10

D. fortii: 90
D. acuminata: 60

Alexandriumspp.: -
D. fortii: -
D. acuminata: - Alexandriumspp.: -
e g fortii: - .
1 o . acuminata: -
. @

S EDREFER ZAZEHR: 6A10H
BEI77 9 HIE# (cells/L)
FAEME | KEE . Dinophysis =3
Alexandrium spp. D. fortii |D. acuminata|% DD Dinophysis
OEBEAR | 10m - - - - V&l
Q@& 10m - - - - V8|
®EER | 10m - - - - V&l
. 6/6%%7K D. rudgei
@FEEHH | 10m 10 90 60 20 D. infundibula
. 6/6F%7K
©H/FE | 10m 10 40 20 10 D. infundibula

X Alexandrium spp. IXFEFOMEBRE, D forti £D. acuminata IETHRIEEEZEDRERRE TSV TY,



Alexandrium spp. (cells/L)

FER

OEEN |Q2F [(QEERN |(OEEH |GR/H#
8811H 0 0 - - -
8H18H 0 0 - - -
4813H 0 0 - - -
4820H 0 0 - - -
4826H - - 0 - 10
48278 20 0 0 - 10
5A11H 0 10 0 0 10
58178 - - 10 0 10
5818H 20 10 - - -
5H24H - - 20 30 10
5825H 20 30 - - -
5H31H - - 20 0 80

6H1H 40 20 - - -
6H6H - - - 10 10
6H10H - - - - -
EEm D. fortii (cells/L)

OEEN |Q2F [QEER |(@OESH |GR/E
8H11H 0 0 - - -
8H18H 0 0 - - -
4813H 0 10 - - -
4820H 0 10 - - -
45 26H - - 30 - 40
48278 0 20 30 - 40
58118 0 40 10 0
58178 - - 20 0
5818H 0 20 - - -
58240 - - 40 20 20
58250 0 10 - - -
5H31H8 - - 10 20 100

6H1H 30 80 - - -
6868 - - - 90 40
68100 - - - - -
AR D. acuminata (cells/L)

OEEN |Q2F |[QEER |(OEEH |GR/HE
8811H 0 0 - - -
8H18H 0 0 - - -
4813H 10 10 - - -
4820H 10 20 - - -
4H26H - - 40 - 70
48278 40 130 40 - 70
58118 10 0 10 10 50
58178 - - 40 10 0
5818H 0 0 - - -
58248 - - 10 10 10
5825H 20 30 - - -
5H31H - - 60 10 140
6H1H8 20 130 - - -
6H6H = - - 60 20

6H10H

HIREYL [cells/L]

HIRH [cells/L)

HI IR Y [cells/L]

100
80
60
40
20

100
80
60
40
20

150
120
90
60

30

Alexandrium spp.
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